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Homework 5                                                                       Row ____ 

CS 336 

 

The important issue is the logic you used to arrive at your answer. 
 
1. How many 10 character words can be formed using exactly four a’s, three b’s, two c’s, and 
one d? 
 
 
 
 
 
 
 
 
 
 
 
 

2. Use a combinatorial argument to prove:  
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3. Suppose all sequences of length n drawn from r distinct elements are equally likely. 

Assume that the elements can be strictly ordered: a a ar1 2   . What is the probability 

that the sequence is non-decreasing?  (From the use of “non-decreasing” rather than 
“increasing” you should assume that repetition is allowed.) 


